Signature and Name of Invigilator

1.

2.

(Signature)

PAPER-I
OMR Sheet No. :

o N

10.
11.
12.

(Name) (To be filled by the Candidate)
(Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.
B0 0 HE (i)
Time : 1/, hours] Test Booklet Code [Maximum Marks : 100
Number of Pages in this Booklet : 16 Number of Questions in this Booklet : 60
Instructions for the Candidates N wiarerat ﬁo‘i%rqﬁﬁ%g
Write your roll number in the space provided on the top of |1. ¥ I & S a0 I W 70T et =R fof@w |
this page. 2. W UE-UE § WE (60) Tgfaeheda wed €, e ¥ 3Eigear
This paper consists of sixty (60) multiple-choice type of Rl il TR (50) F B ST S B | SEHIRIR N
questions, out of which the candidate would be required to e | mmﬁﬂ I 3 W IHEER §N K3 T e
answer any fifty (50) questions. In the event of the candidate O USHT 1 Hodioh [ohdT STRT |
attempting more than fifty questions, the first fifty questions [3. T%eT UR™T 89 W, WeH-IREs TR 3 3 ST | TRet
attempted by the Candidate would be evaluated. gt e 9 ueH- T 997 3OS FEenad
At the commencement of examination, the question booklet S % feu e s, S 39! 3EvT FAT ¢
will be given to you. In the first 5 minutes, you are requested () - e % feIq qReeT T et TSt i Hiet /
to open the booklet and compulsorily examine it as below : 3T F FE S lgFﬁ E'é' a1 T SR |
(i) Tohave access to the Question Booklet, tear off the paper g — — e T T |
seal / polythene bag on the booklet. Do not accept g wa&ﬁéwwm .
a booklet without sticker-seal / without polythene bag (ii) = .Tgﬁ S 3 AN ‘{g
and do not accept an open booklet. HEAT B FD! TE 4F B e | Tyt
(i) Tally the number of pages and number of questions in 7 ﬁqﬁwmg‘rm R AT & AT HREe
the booklet with the information printed on the cover AR off gH B LisEaRcicara)
page. Faulty booklets due to pages/questions missing FH qAT IH THT IH AR IS W W THA Wl
or duplicate or not in serial order or any other US-gfE®Ht A & | 39 o smueet Ut fAme 5
discrepancy should be got replaced immediately by a AT | SR ATl mmgﬁammpﬁaﬁrﬁ
correct booklet from the invigilator within the period AT A et e awa far s |
of 5minutes. Afterwards, neither the Question Booklet (iii) 3T S & a1 TGRS FT B OMR T W 3T
will be replaced nor any extra time will be given. e OMR T9% F 57 T 30 T9- s
(iii) After this verification is over, the Test Booklet Code iR T |
should be entered in the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet. 4. ;ﬁm% T %‘%W ﬁ;%‘ﬁ(ﬁg:é& (C) @& (D) ﬁg
Each item has four alternative responses marked (A), (B), (C) | SR T I I ALY leTl T
and (D). You have to darken the circle as indicated below on st o A femrn T e
the correct response against each item. FaERw - (A) @ O & FIWE |
Example : (8) @ O 5. TIA-UA | SARATH-UF || % T U &t OMR Ueh & 511 39 09
i gt & 1=y fgar mar € | A & ST Fa OMR T
where (C) is the correct response. N AN gy -
Your responses to the items are to be indicated in the OMR T ET 3 | 1% 39 OMR W=k W {59 T g9
Sheet given inside this Booklet, which is common for SE Tl o ®IF W IR €, ar 3Ee
Paper I and Paper I1. If you mark at any place other than in qeATH TET_ e l .
the circle in the OMR Sheet, it will not be evaluated. 6. <X f53 T fAel B YA uE | ‘
Read instructions given inside carefully. 7. @eal HM (Rough Work) T9 JReishT & 3109 I W &Y |
Rough Work is to be done in the end of this booklet. 8. g 3T OMR Wa® W Had I & 3T 10T A, Jet
If you write your Name, Roll Number, Phone Number or put TR, R TR G1 Hie 9 U o feE eTuel vewT 8l
any mark on any part of the OMR Sheet, except for the space Teh, ek YA © AT I19E HWIT T UG L &, °qT Hig
allotted for the relevant entries, which may disclose your 3 T WEA H WA A 8, S b st 6 T
identity, or use abusive language or employ any other unfair 3T F AT A1 O SR § ST a uher ¥ o
means such as change of response by scratching or using ST A T T TEA B
white fluid, you will render yourself liable to disqualification. > 7 ——
You have to return the original OMR Sheet to the invigilators 9. S ¥ gm %? ﬁﬁgm £
at the end of the examination compulsorily and must not Ry ¢ 5@3”5 M . S
carry it with you outside the Examination Hall. You are &1 e | Sl T eihl | BTefiich ST Tie FHIte T
however, allowed to carry duplicate copy of OMR Sheet on OMR T H gwdieshe ‘;“fo 3T [ T ST € |
conclusion of examination. 10. et <Aiel/aHTet STet WIS U T & SEAuTel HY |
Use only Blue/Black Ball point pen. 11. Forelt off TR BT WU (Fergheier) AT AR Tl AT B
Use of any calculator or log table etc., is prohibited. wErT At ¥ | ) N
There is no negative marks for incorrect answers. 12. T I & TTQ Hig AHRTAE 3k Ta ¢ |
In case of any discrepancy in the English and Hindi versions, | 13, =afg afost ar f&at foeror & whig fodmfa &1, o s foawo

13.

English version will be taken as final.

3ifqq @ S |

Y00 LN MMF

P.T.O.



Y-00

FOR OFFICE USE ONLY
Marks Obtained
S8 |28 |8 |¢E | 85| ¢k
S5 |55 |85 | S5 | 85| &8
oz @) o=z (@) oz (@)
1 21 41
2 22 42
3 23 43
4 24 44
5 25 45
6 26 46
7 27 47
8 28 48
9 29 49
10 30 50
11 31 51
12 32 52
13 33 53
14 34 54
15 35 55
16 36 56
17 37 57
18 38 58
19 39 59
20 40 60
Total Marks Obtained (iNWOrdS) .........ccceoeireneiincrieeene
(INTIQUIES) v
Signature & Name of the Coordinator ............ccccocevevriennnene.
(Evaluation) Date ..o




Paper — |
q9aA — |
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e In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will
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1.

4.

be evaluated.

o T VYT H WIS (60) Tgfaehedid Ue & | ek U9 % &t (2) H T |

o 3 BT HIE A TE (50) W F S |

o I U= (50) ¥ THH TeAT o IR A Al T2 g=nd (50) WA & S SR |

Which one of the following Councils

has been disbanded in 2013 ?

(A) Distance Education Council
(DEC)

(B) National Council for Teacher
Education (NCTE)

(C) National Council of Educational

Research and Training
(NCERT)
(D) National  Assessment  and

Accreditation Council (NAAC)

Which of the following statements are

correct about the National Assessment

and Accreditation Council ?

1. Itisan autonomous institution.

2. It is tasked with the
responsibility of assessing and
accrediting institutions of higher
education.

3. It is located in Delhi.

4. It has regional offices.

Select the correct answer from the

codes given below :

Codes :

(A) land3 (B) 1land?2

(C) 1,2and4 (D) 2,3and4

The power of the Supreme Court of

India to decide disputes between two

or more States falls under its

(A) Advisory Jurisdiction

(B) Appellate Jurisdiction

(C) Original Jurisdiction

(D) Writ Jurisdiction

Which of the following statements are

correct ?

1. There are seven Union
Territories in India.

2.  Two Union Territories have
Legislative Assemblies

3. One Union Territory has a High
Court.

4. One Union Territory is the
capital of two States.

Select the correct answer from the

codes given below :

(A) land3only (B) 2and4only

(C) 2,3and4only (D) 1,2,3and4

Y-00
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5.

8.

Which of the following statements are

correct about the Central Information

Commission ?

1. The Central Information
Commission is a statutory body.

2. The Chief Information
Commissioner and other
Information Commissioners are
appointed by the President of
India.

3. The Commission can impose
a penalty upto a maximum of
T 25,000/-

4. It can punish an errant officer.

Select the correct answer from the

codes given below :

Codes :

(A) 1land?2only

(B) 1,2and4

(C) 1,2and3

(D) 2,3and4

Who among the following conducted

the CNN-IBN - The Hindu 2013

Election Tracker Survey across 267

constituencies in 18 States ?

(A) The Centre for the Study of
Developing Societies (CSDS)

(B) The Association for Democratic
Reforms (ADR)

(C) CNN and IBN

(D) CNN, IBN and The Hindu

In certain code TEACHER is written
as VGCEJGT. The code of
CHILDREN will be

(A) EKNJFTGP (B) EJKNFTGP
(C) KNJFGTP (D) None of these

A person has to buy both apples and
mangoes. The cost of one apple is
% 7/- whereas that of a mango is ¥ 5/-.
If the person has ¥ 38, the number of
apples he can buy is

(A) 1 (B) 2

©) 3 (D) 4

Y-00
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Eac

(A) %1 2R 2

(B) 1,234

(C) 1,233
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frefefad & 9 e 18 TSal & 267

faram &= § 9@ TF TH-eTE Wt wA -
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(A) & X ®R 5 = A Saerm
T (H T 2 TH)
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(A) EKNJFTGP

(B) EJKNFTGP

(C) KNJFGTP

(D) SUgw | § g T@l

fopdll SaferT o1 Qe T 3TH ST bl TRET
T | U U9 & HEd T 7 ¢ Aah Tk
H FHET T 5 € | A 3T AT b T T 38
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9.

10.

11.

12.

13.

14.

A man pointing to a lady said, “The
son of her only brother is the brother
of my wife”. The lady is related to the
man as

(A) Mother’s sister

(B) Grand mother

(C) Mother-in-law

(D) Sister of Father-in-law

In this series
6,4,1,2,2,8,7,4,2,1,5, 3, 8, 6, 2,
2,7,1,4,1, 3,5, 8, 6, how many pairs
of successive numbers have a
difference of 2 each ?

(A) 4 (B) 5

(C) 6 (D) 8

The mean marks obtained by a class
of 40 students is 65. The mean marks
of half of the students is found to be
45. The mean marks of the remaining
students is

(A) 85 (B) 60

(©) 70 (D) 65

Anil is twice as old as Sunita. Three
years ago, he was three times as old as
Sunita. The present age of Anil is

(A) 6 years

(B) 8years

(C) 12 years

(D) 16 years

Which of the following is a social
network ?

(A) amazon.com

(B) eBay

(C) gmail.com

(D) Twitter

The population information is called
parameter while the corresponding
sample information is known as

(A) Universe

(B) Inference

(C) Sampling design

(D) Statistics

Y-00
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Read the following passage carefully and answer questions 15 to 20 :

Heritage conservation practices improved worldwide after the International Centre for the Stu_d?]/
of the Preservation and Restoration of Cultural Property (ICCROM) was established wit
UNESCO’s assistance in 1959. The inter-governmental organisation with 126 member states has
done a commendable job by training more than 4,000 professionals, providing practice standards,
and sharing technical expertise. In this golden jubilee year, as we acknowledge its key role in
global conservation, an assessment of international practices would be meaningful to the Indian
conservation movement. Consistent investment, rigorous attention, and dedicated research and
dissemination are some of the positive lessons to imbibe. Countries such as Italy have
demonstrated that prioritising heritage with significant budget provision pays. On the other hand,
India, which _is no less endowed in terms of cultural capital, has a long way to gio. Surveys
indicate that in addition to the 6,600 protected monuments, there are over 60,000 equally valuable
heritage structures that await attention. Besides the small group in the service of Archaeological
Survey of India, there are only about 150 trained conservation professionals. In order to
overcome this severe shortage the emphasis has been on setting up dedicated labs and training
institutions. It would make much better sense for conservation to be made part of mainstream
research and engineering institutes, as has been done in Europe.

Increasing funding and building institutions are the relatively easy part. The real challenge is to
redefine international approaches to address local contexts. Conservation cannot limit itself to
enhancing the art-historical value of the herltage structures, which international charters perhaps
overemphasise. The effort has to be broad-based : It must also serve as a means to improving the
quality of life in the area where the heritage structures are located. The first task therefore s to
integrate conservation efforts with sound development plans that take care of people _Ilvmg_ln the
heritage vicinity. Unlike in western countries, manx traditional building crafts survive in India, and
conservation practices offer an avenue to support them. This has been acknowledged by the Indian
National Trust for Art and Cultural Heritage charter for conservation but is yet to receive substantial
state support. More strength for heritage conservation can be mobilised by aligning it with the green
building movement. Heritage structures are essentially eco-friendly and conservation could become a
vital part of the sustainable wlquhpractlces campaign in future.

15. The outlook for conservation heritage changed ]

(A) after the establishment of the International Centre for the Study of the Preservation

and Restoration of Cultural Property.
B) after training the specialists in the field. ) L
C) after extending UNESCQ’s assistance to the educational institutions.

D) _after ASI’s measures to protect the monuments.
16. The inter-government organization was appreciated because of
A) increasing number of members to 126. ) ) )
B) imparting training to professionals and sharing technical expertise.
C) consistent investment in conservation. ]
D) its proactive role in renovation and restoration.
17. Indian conservation movement will be successful if there would be
A) Financial support from the Government of India. = _ ]
B) Non-governmental organisations role and participation in the conservation movement.
C) consistent investment, rigorous attention, and dedicated research and dissemination of
awareness for conservation. ) )
g)) Archaeological Survey of India’s meaningful assistance.
18. As per the surveys of historical monuments in India, there is very small number of

protected monuments. As per given the total number of monuments and enlisted number of
protected monuments, Igercentage comes to
(A) 10 percent_ (B) 11 percent (C) 12 percent ) (D)7 13 percent

19. What should India learn from Europe to conserve our cultural heritage * )

i) There should be significant budget provision to conserve our cultural heritage.

il)  Establish dedicated labs and training institutions.

gug Force the government to provide sufficient funds. ) L
Conservation should be made part of mainstream research and engineering institutes.

PEIOOSQ)C? 'r)req't')an('svge(g)mng'gh(e'%O?e% glve?g)elo%v): (i) D) (), (iii), (i
D), (i), (i), (iv i), (i), (iv i), (ii i), (i), (iv
20. fN)I'AEH is known for its contribution for conservation of our cuftural eritage. The full

form of INTACH is .

A) International Trust for Art and Cultural Heritage.

B) Intra-national Trust for Art and Cultural Heritage
C) Integrated Trust for Art and Cultural Herltall_?e )

D) Indian National Trust for Art and Cultural Heritage
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T 3Teis IS R © | R T el T R 6RIed = i GEI0T § Feifd Si9om | 39 iR 5641 T
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15. ToRTHT |V % Ul GRS H S{eATd el 37T 2

(A) IR AT THIRT TR0 T SUIGER 65 & S0 & a1

(B) =@ & o fosiosi =t uiiier fobw ST & o1

(C) <ifersh TEAM =l JHEh! G Weral U&H fohT STH sh a5

(D) THREHI I GRE % foT0 TR GRTelel Geleao1 T o6 T 3Tl o a1
16. 39 SFR-GIHRI YT il T FhafeTs o TE 2

(A) T H T 126 TH TgH & g

(B) =ATEAITRT ST ATSTETOT UET Y T qebeTehl foreTsrar | QIR HH & feg

(C) wor o sAfafes~ e s o ferw

(D) TAERYR qAT STUNGHR H 8kt THAFHNT et & few
17. RS HRA0T SR e el 2T STal

(A) 9RT THR F foxda Femr e |

(B) TIUT ARG H IR-TRBRT TTTAT bt JHehT 3 T gt |

(C) afates= e, gg TR T TRET0T o ToTT STTeehdT ST TER-UER &1 |

(D) YR QI FALT0T ! [Tk TETT W g |
18. YRA % UfRIe TR o TAeI0] % 39N, Jel g HH TXMeTd TRE & | TR ol ot G § Fheqa

TR < T T Y91 T 31 & 2

(A) 10 wfee (B) 11 wfaem (C) 12 wfaera (D) 13 wfaema
19. 37U FiHfoeh foRTad & W07 % iU wRd  ZRIT ¥ 1 R A1y 2

(i) R FoRTET o G0 o I JaT ST 1 WEE &1 =y |

(il) T TETeTeTsT SR WiTeToT T i T |

(i) AT GRS SUCTS FH o ey TRHR i aTed HEAT |

(iv) e qe ST ST b e 9RT | TRET0T i IS HEAT |

e f§T T e F el I T

(A) (@), (i), (i), Gv)  (B) (i), (ii), (iv) (©) (), (i) (D) (), (i), (iv)
20. INTACH % 391 &l Gihicsh [ad | IR o foT STA1 STt € | INTACH 1 931 98 €

(A) TEIHA L R I TE Foeaked gk (B)  TTFMS TR ER 3T TS Hoalel gRest

(C) 3T T HX 3N WS Hoolel ST (D)  3fea el 2 TR 31 0T howRel 3RS
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21. While delivering lecture if there is 21, SIH I 99T IS FRT H Fi (oe-ar &
some disturbance in the class, a ar f¥rerer o Ffaiad § 9 SR/ ST 9y 2
teacher should
(A) keep quiet for a while and then (") 39 % ? fer =77 &t < e e

: JEFT |
continue. o
(B) punish those causing (B) T aTem <17 ¥ &1 3 3feq Y |
disturbance. (C) ST e TeA @ &1 3% diEe & ferw
(C) motivate to teach those causing A #Y |
disturbance. _ _ (D) =& & St F® & w1 & 39 O °
(D) not bother of what is happening IS TWAE T HY |
in the class.
22. Effective teaching is a function of 22. vrel foreTor ffetad 5 9 @ € 0
(A) Teacher’s satisfaction. (A) forere o Sa
(B) Teacher’s honesty and A § ] o
commitment. (B) il ' K

(C) Teacher’s making students learn (C) Tmmr # =™ *H uerl @R
and understand. HHEATT

(D) Teacher’s liking for professional (D) =HEEE Jwedl & U et it
excellence. ra)

23. The most appropriate meaning of 23. AT 1 Gl IugE o §
learning is
(A) Acquisition of skills (A) FRIET- T
(B) Modification of behaviour (B) SRR
(C) Personal adjustment (C) =AfRTTa GHTESH
(D) Inculcation of knowledge (D) I i AW § ST

24. Arrange the following teaching 24. Fafafeg Pt 36 w9 o
process in order : A BT -

(i) Relate the present knowledge S VUM GG S S S S
with previous one () . i

(i) Evaluation (i) HearHT

(iii) Reteaching (iii) gATSTETOT

(iv) Formulating instructional objectives (iv) ToreTor-orestt ot goreg e

(v) Presentation of instructional TR OT
materials (v)  Fewm-zmsi 1

(A (i), (i), (iii), (iv), (v) (A) (1), (i), (iii), (iv), (V)

(B) (ii), (i), (iii), (iv), (V) (B) (i), (i), (iii), (iv), (v)

(C)  (v), (iv), (i), (i), (i) (C)  (v), (iv), (iii), (i), (i)

(D) (iv), (i), (v), (i), (iii) (D) (iv), (i), (v), (i), (iii)

Y-00 8



25.

26.

217.

28.

29.

CIET stands for

(A) Centre for Integrated Education
and Technology

(B) Central Institute for Engineering
and Technology

(C) Central Institute for Education
Technology

(D) Centre for Integrated Evaluation
Techniques.

Teacher’s role at higher education

level is to

(A) provide information to students.

(B) promote self learning in students.

(C) encourage healthy competition
among students.

(D) help students to solve their
problems.

The Verstehen School of
Understanding was popularised by
(A) German Social Scientists

(B) American Philosophers

(C) British Academicians

(D) Italian Political Analysts

The sequential operations in scientific

research are

(A) Co-variation,  Elimination  of
Spurious Relations, Generalisation,
Theorisation

(B) Generalisation,  Co-variation,
Theorisation, Elimination of
Spurious Relations

(C) Theorisation,  Generalisation,
Elimination of Spurious
Relations, Co-variation

(D) Elimination of Spurious Relations,
Theorisation, Generalisation,
Co-variation.

In sampling, the lottery method is
used for

(A) Interpretation

(B) Theorisation

(C) Conceptualisation

(D) Randomisation

Y-00

25.

26.

27.

28.

29.

CIET frfefad # @ fhaer ga ¢ 2
(A) IR ®R Lhiice Tpkee we
SHTATST

(B) el THITgE WX AR we
AT
(D) U ®R LN TTUH A

o TOreTT o TR IR F¥eTen St iRt s/ € 2
(A) ToRntert Bt GemT UST HET |
(B) fomntedi w w@reA™ W Wiedled

HET |

(C) fomntoai o o wfderem ot
TedTe ST |

(D) 31U A & A B ot
= TET HE |

TAfaEd § 9 foree oAy a=m 2

(A) ST T o

(B) MR TR

(C) Tofewr srmTe fogT

(D) SIS EIRE R SEA N ED

ST 3 H SHTHe WHATE B | & 2

(A) TETEROT, AT Gael T ATEhIT,
[T, g

(B) WM, WelaeruT, fagidtenio,

YT Heel T STEthHIoT

(C) fomidiheor, WHMIHROT, WHH
eyl BT SESHI0T, W =0T

(D) vM® TEui T Siew,
TagTdTeRToT, QrHT=IehIT, Heferaror

T @ Rl Uga H 3T
frefafad 5 9 foraeh foe fomar S & 2
(A) e (=)

(B) Tagicisor

(C) TeHeuT

(D) SR TEUT (ATGTSISHT)

P.T.O.
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30.

31.

32.

33.

34.

35.

Which is the main objective of research ?

(A) To review the literature

(B) To summarize what is already
known

(C) To get an academic degree

(D) To discover new facts or to
make fresh interpretation of
known facts

Sampling error decreases with the
(A) decrease in sample size

(B) increase in sample size

(C) process of randomization
(D) process of analysis

The principles of fundamental

research are used in

(A) action research

(B) applied research

(C) philosophical research
(D) historical research

Users who use media for their own
ends are identified as

(A) Passive audience
(B) Active audience
(C) Positive audience
(D) Negative audience

Classroom communication can be
described as

(A) Exploration

(B) Institutionalisation
(C) Unsignified narration
(D) Discourse

Ideological codes shape our collective
(A) Productions

(B) Perceptions

(C) Consumptions

(D) Creations
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33.

34.

35.

e T T & 47 € 2

(A) TIfeca ot e HEAT |

(B) UEc ¥ FT T TRIST AT |

(C) TR 3ty (fetih) e e |

(D) & @A H WIS HAT AT A
T ! ST AT HET |

TAT o H Terd e § d feh
1T e S 2

(A) 9 % 3MHR § HHI

(B) A % 3MHR ¥ glg

(C) ATCBIHIOT Hl sk

(D) fawetuor =6t wfshan

Hiferes oY o fagiar &1 H=fefad o 9
fepars SuaT femar sTram & 2

(A) fopaTRes o

(B) ST A

(C) it vy

(D) uferiees g

TR WEH W AU sEtakg % fow
ST S aTe! YRl <l T e € 2
(A) fAfsp sirar

(B) Hsha s

(C) TR e

(D) THRICHSE S

TRl TAR T a0 FrArEd § 9 s
T TeRaT ST Gehell & 2

(A) TEmoT

(B) EEIHIHIOT

(C) TTHIdd T

(D) ==

Ygifas Fie TR WHfess @l
PR UG A & |

(A) fmToT

(B) e

(C) w@ua

(D) ¥



36. In communication, myths have power,
but are
(A) uncultural.

(B) insignificant.
(C) imprecise.
(D) unpreferred.

37. The first multi-lingual news agency of
India was
(A) Samachar
(B) API
(C) Hindustan Samachar
(D) Samachar Bharati

38. Organisational communication can
also be equated with
(A) intra-personal communication.
(B) inter-personal communication.
(C) group communication.

(D) mass communication.

39. If two propositions having the same
subject and predicate terms are such
that one is the denial of the other, the
relationship between them is called
(A) Contradictory
(B) Contrary
(C) Sub-contrary
(D) Sub-alternation

40. Ananya and Krishna can speak and
follow English. Bulbul can write and
speak Hindi as Archana does.
Archana talks with Ananya also in
Bengali. Krishna can not follow
Bengali. Bulbul talks with Ananya in
Hindi. Who can speak and follow
English, Hindi and Bengali ?

(A) Archana

(B) Bulbul

(C) Ananya

(D) Kirishna
Y-00
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36.

37.

38.

39.

40.

oo |, fqus § v et € W
AT

(A) TP & € |

(B) WewoRH &l € |

(C) TuIces T&l & |

(D) o T S S |

IRA 1 UIH TE-URN GHER St
frfafea & 9 wF € 2

(A) TEER

(B) wtamg

(C) Tegw™ TR

(D) THTER Rt

T F9R & 378 ¥ fhges gadqed of
HET ST bl & 2

(A) 3. dafRTs AR

(B) iqaafers HoR

(C) ¥ =R

(D) SH IR

T AET F I R fawm @
Ve afs TE € TR U @ vIskieel!
T A 8 Al & A 3 I S
HeY T HEeATd & 2

(A) fatems

(B) fowda

(C) u-fawda

(D) SwERIT

AT SR FOM ST aict IR T
Thd € | Jogel oTE W ¥ @ feat
for@ 3T aier Wbl & | ST 3 |
ST | off ST HA & | PO AT Tl
TS bl | oot 3= & &S | @
Rl & | FAfaiad 9 ¥ & s, @R
R ST ST 3R S Thell & 2

(A) 3=

(B) Tt

(© =

(D) Fwm
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41.

42.

43.

44,

A stipulative definition may be said to
be

(A)
(B)
(©)

Always true
Always false

Sometimes
false

Neither true nor false

true, sometimes

(D)

When the conclusion of an argument
follows from its premise/premises
conclusively, the argument is called

(A) Circular argument
(B) Inductive argument
(C) Deductive argument
(D) Analogical argument

Saturn and Mars are planets like the
earth. They borrow light from the Sun
and moves around the Sun as the
Earth does. So those planets are
inhabited by various orders of
creatures as the earth is.

What type of argument is contained in
the above passage ?

(A) Deductive (B) Astrological
(C) Analogical (D) Mathematical

Given below are two premises. Four
conclusions are drawn from those two
premises in four codes. Select the code
that states the conclusion validly drawn.

Premises :

(1)  All saints are religious. (major)

(i)  Some honest persons are saints.
(minor)

Codes :

(A) All saints are honest.

(B) Some saints are honest.

(C) Some honest persons
religious.

All religious persons are honest.

are

(D)

Y-00
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WiHHa are fefatad § @ S 9
el ST el & 2

(A) ST EHIM qH & |

(B) S wwHem e A |

(C) Tt wnft T &, it feam |

(D) ST e T e |

S Tt I b1 Ty ifqw =9 § o7
MR/ STERIST & RO 37T
q o8 e fEfaiad 9 @ 491 ST & 2
(A) =hE dH

(B) STHATHS T

(C) ™o-TeH T

(D) WgeaTersh T

I 3T 6T AT gealt bl e & Te € |
T W TN TEU A & 3T gedt i
e & gF & 9% WE gAd © | 3HeT
37 W&l W fafey wehr % Sig wd § S
F g REd € |

ST T B efeied 7 9 69 TR
T T HiEd & 2

(A) TS

(B) icTd-SAifdy Haredt

(C) HRRFeTH

(D) TIfoT

T I SMUINRE I T E | 3T I
M1 ¥ IR Hel H IR wpd
HepTet T & | T IS o ST 519 @i
T fepd umifoes ®9 9 SqRm T €
ST T DI |

31THTF{ET§':

() 9 g afae g € 1 ()

(i) FD SAMSR A Td & & | (7T
BT

(A) T Hd AR B & |

(B) F® Id SAMER & |

(C) F® THMIR oI 41+ & |

(D) @t «fiyes & SAFRR 8 € |



Following table provides details about the
Foreign Tourist Arrivals (FTASs) in India
from different regions of the world in
different years. Study the table carefully
and answer questions from 45 to 48 based
on this table.

Number of Foreign Tourist
Region Arrivals

2007 2008 2009
Western 1686083| 1799525| 1610086
Europe
North 1007276| 1027297 | 1024469
America
South Asia 082428| 1051846| 982633
South East 303475 332925| 348495
Asia
East Asia 352037 355230 318292
West Asia 171661| 215542| 201110
Total FTAs | 5081504 | 5282603| 5108579
in India

45. Find out the region that contributed
around 20 percent of the total foreign
tourist arrivals in India in 20009.

(A) Western Europe
(B) North America
(C) South Asia

(D) South East Asia

46. Which of the following regions has
recorded the highest negative growth
rate of foreign tourist arrivals in India
in 2009 ?

(A) Western Europe
(B) North America
(C) South Asia
(D) West Asia

47. Find out the region that has been
showing declining trend in terms of
share of foreign tourist arrivals in
India in 2008 and 20009.

(A) Western Europe
(B) South East Asia
(C) East Asia
(D) West Asia

48. ldentify the region that has shown
hyper growth rate of foreign tourist
arrivals than the growth rate of the
total FTAs in India in 2008.

(A) Western Europe
(B) North America
(C) South Asia
(D) East Asia
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I & T wRon # gfar o fafeer et |
fafiy= oot & 9Ra § el 9 A (T
3w @ e feam mr ¥ 1 T Anen @
YA 3TeAT HITT Tl U9 G 45 9
48 T I I IH FRUT o 3TEN I ST -

. ferdoht wdees e gE
2007 2008 2009
ufveE ghT | 1686083 | 1799525 | 1610086
ST SRS | 1007276 | 1027297 | 1024469
ThetoT ufeEr | 982428 | 1051846 | 982633
gheTor g 303475 | 332925 | 348495
ufern
T TR 352037 | 355230 | 318292
ufvem U | 171661 | 215542 | 201110
IRa ¥ FA | 5081504 | 5282603 | 5108579
foet wdew
HANTHA

45, RG | T 2009 H Fol fo5wl wheh
T o TR 20 W9 Udesh (9
& 2T 2
(A) ufvemtzRT  (B) 3R SR
(C) sfemruferr (D) sferor gd ufvrn

46, FrafatEad § 9 69 &3 9 2009 § 9RA
4 fooet wdew A W 3tfushad
FOTCH g & 3T &l TS 2
(A) TfeeEr R
(B) 3T MR
(C) gfeqor uferan
(D) ufvem uRwET

47. 2008 3 2009 # fFg &7 ¥ 9Ra H
ool gdesh SHT o &1 H SRUTCH
g 351 Y TTE 9
(A) TfeeEr T
(B) SfeTur g5 TR
(C) go ufern
(D) ufvem uwET

48. YIRA ¥ A faaell whesh 3 &% ghg
TT I STUET T &1 T 3T arel Ygeehl
i gfg 5T 2008 T 3t EI & 2
(A) fvedr T
(B) 3T R
(C) gfeqor wieran
(D) wd wirEn
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49.

50.

51.

52.

53.

54.

The  post-industrial
designated as

(A) Information society
(B) Technology society
(C) Mediated society
(D) Non-agricultural society

society is

The initial efforts for internet based
communication was for

(A) Commercial communication
(B) Military purposes
(C) Personal interaction
(D) Political campaigns
Internal communication within
institutions is done through

(A) LAN

(B) WAN

(C) EBB

(D) MMS

Virtual reality provides

(A) Sharp pictures

(B) Individual audio

(C) Participatory experience
(D) Preview of new films

The first virtual university of India
came up in

(A) Andhra Pradesh

(B) Maharashtra

(C) Uttar Pradesh

(D) Tamil Nadu

Arrange the following books in
chronological order in which they
appeared. Use the code given below :
()  Limits to Growth

(if)  Silent Spring

(iii)  Our Common Future

(iv) Resourceful Earth

Codes :

(A) (1), (i), (iv), (i)

(B) (i), (iii), (i), (iv)

(C) (i), (i), (iii), (iv)

(D) (), (ii), (iii), (iv)
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53.

54,

ITR-3HEfTr qus H FEfeied § 9
I U el T &

(A) g ST

(B) TR TENT

(C) werrard gt

(D) R-FMH TES

TS YIRG TOR % ARYF WA
fopaer for fopw T & 2

(A) EEER GO

(B) ¥ =¥

(C) URER 3T=fshar

(D) TSHItaes T

T o 3TaTa SR TaR fhds g
ToparT ST € 9

(A) ©F (T T T)

(B) o (3= TT)

(C) zarst

(D) wuATH

T el SueTed et &

(A) gee o

(B) SRR T

(C) Wil a9

(D) =&t fthew 1 ol Tetish

IRA &1 YT gt fovatgened Far
3TN foparr T 2

(A) 2Ty U=

(B) #emrz

(C) SWURY

(D) afFerg

frafefad el 1 36 UHRHE &
FHAHY | Sated Hivte | = f5e T
HIE FH ITANT T

(i) ferfrea g m

(i) wrEeie fam

(iii) 3T HHT TR

(iv) feardger ot
e

(A) (D, (i), (iv), (i
(B) (i), (iii), (i), (iv)
(C) (i), (i), (iii), (iv)
(D) (), (i), (iii), (iv)




55. Which one of the following continents
is at a greater risk of desertification ?
(A) Africa
(B) Asia
(C) South America
(D) North America

56. “Women are closer to nature than
men.” What kind of perspective is this ?
(A) Realist (B) Essentialist
(C) Feminist (D) Deep ecology

57. Which one of the following is not a
matter a global concern in the removal
of tropical forests ?

(A) Their ability to absorb the
chemicals that contribute to
depletion of ozone layer.

(B) Their role in maintaining the
oxygen and carbon balance of
the earth.

(C) Their ability to regulate surface
and air temperatures, moisture
content and reflectivity.

(D) Their contribution to the
biological diversity of the planet.

58. The most comprehensive approach to

address the problems of man-

environment interaction is one of the

following :

(A) Natural Resource Conservation
Approach

(B) Urban-industrial Growth
Oriented Approach

(C) Rural-agricultural Growth

Oriented Approach
(D) Watershed Development Approach

59. The major source of the pollutant gas,
carbon mono-oxide (CO), in urban
areas is
(A) Thermal power sector
(B) Transport sector
(C) Industrial sector
(D) Domestic sector

60. In a fuel cell driven vehicle, the
energy is obtained from the
combustion of
(A) Methane
(C) LPG

Y-00
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55. TH=tefad § 9 9 AeEa w I o
URAfAd B T T NH G € 2
(A) 3THIH
(B) ufern
(C) gfeqor 3R
(D) 3T 3R
56. “Hfgcd J&OT i 37U UHd & 3TH
fre € 17 T8 fore TR o gfteshior € 2
(A) FoEER  (B) SAeRAEmE!
(C) ARfamt (D) e U ieiteeh!
57. SWIhiZEl oA & TE B & Gay o
frfefad & & % a1 qeT Afves THR
1 forra &1 & 2
(A) 3STH H TAg H T FA H
IEE  HH At @EA @
ST XA hl ST &THaT

(B) Rl & 3ffoRdisH 3T A H
T A W& H 3R ien

(C) et 3R oy & daqmomH, =,
A d@ T WEdsedl  hl
TSI T T ST GTHAT

(D) &Rt &% SAg-Afaed § IR AR

58. FEffad ¥ ¥ Hi9 | SUNH H-
YITER0T SFFII1hAT i GHET | Harad
A4 ATk SUNTH & 2

(A) WTHie GATET GIE0T U
(B) IEd-3iienfiTeh Tgfy S<g@ SurTy
(C) wmHIvLH i ST SUFTH
(D) arewE faw™ 3urm

59, W @ W USUUIRRI T e
AHFIES (CO), T TG A &
(A) drdg oI &=
(B) uRaeT &=
(C) it &=
(D) =] &

60. U St TIfeT e § St [ohdeh g6 9

T Bl € 2
(B) g

(A) =
(C) wadisit (D) wWTAsi
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